RETAN FEHIHNONEZBEDEH 01
1. WOBFNIZHBWT, () OFERD L. (SHR208, A0, BMES0#, CH15208 )

(1) 4,8,12,16,20,: (5 15%H) (2)  1,3,5,7,9,- (E»5 13%H)

(3)  7,10,13,16,19,22, -+ (25 21 FH) (4)  40,50,60,70,80, - (£H»521&FH)

2. WOBINZBEWNT, () OFERDO L. (SHh408, Afk1o, Bi#172308, Cik2o)

(1) 18,36,54,72,90, - (05 32%&H) (2)  18,24,30,36,42, - (25 59 %&KH)

(3)  100,99,98,97,96, - (25 24%&H) (4)  487,482,477,472,467, - (EEH» 5 3T FHEH)
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3. MOBINZBNT, () OERDE. ( SH208, AFE30F, B0, CH1420% )

(1) 9,18,27,36,45, (Ko 14%H) (2)  4,7,10,13,16,--- (25 18 FH)

(3)  8,14,20,26,32,38, - (£H 5 31%H) (4)  35,45,55,65,75,, - (ZEHh S 29%FH)

4. MOFINZHEWT, () OFERD K. ( SHK40F, A1, BfE17330%, CH2m)

(1)  14,28,42,56,70,- (25 34 FH) (2)  15,23,31,39,47,- (K05 48 FKH)

(3)  100,98,96,94,92, - (&£H 5 32%&H) (4)  582,578,574,570,566, - (K05 21 &KH)
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iR 5n
508, CH143208 )

REtTFRA N FEHIONBZTEHDOEH 01 #
1. ROBINZBWT, () OFERD L. ( SHE208, AfK30D,

=~ IF

* FEHI NEEHOHE =RWOW+ = x (N —-1)
VHEREDA A=Y BB NMEDZ 1S, 2 (N —1)1H.

(1) 4,8,12,16,20, - (K5 15%&H) (2)  1,3,5,7,9,- (E»513%H)
4 DIEEK HITE 1, 72
> 4x15=60 = 1+2x(13-1)=25
(3) 7,10,13,16,19,22, -+ (D5 21 FH) (4)  40,50,60,70,80,- (L5521 &H)
MET, #3 MJIE 40, # 10
= T+3x(21—1)=67 = 40410 x (27— 1) = 300

2. MOBINZBNT, () OFERDE. ( SHA0F, Af14r, BF1230F, C#Kk24 )

(1) 18,36,54,72,90,: (K25 32%H) (2)  18,24,30,36,42, - (K25 59 &KH)
18 DAEEL FIIE 18, 76
>  18x32=576 = 1846x (59 —1)
=18+ 6 x 58
= 366
(3)  100,99,98,97,96, - (25 24%FH) (4)  487,482,477,472,467, - (ZEH 5 37 FH)
HITE 100, 2 —1 HIVE 487, % —5
= 100—1x(24—1)="77 = 487 —5x (37—-1)
= 487 — 5 x 36

= 487 — 180 = 307
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ROBINZBENT, () OFERD K. (S22, AM30F, B0, CHk14 208 )

(1) 9,18,27,36,45, (ZEHh S 14%FH)

9 DREEL
> 9x14=126

(3)  8,14,20,26,32,38, - (D5 31 FH)

HIHS, 76
> 846x(31—1)=188

(2)  4,7,10,13,16,--- (25 18 FH)

HIIE 4, 73
= 4+3x(18-1)=55

(4)  35,45,55,65,75,, - (15 29%H)

#TE 35, 7 10
= 354+10x(29—1) =315

ROBINZBNWT, () OBERkDK. (SHh40W, Afk15, Bkl 308, C#k25 )

(1)  14,28,42,56,70,-- (ZEHh 5 34FH)

14 D5
> 14 x 34 =476

(3)  100,98,96,94,92, - (5 32%H)

MIE 100, 7= — 2
= 100 —-2x(32—1)
=100 — 2 x 31
= 38
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(2) 15,23,31,39,47, -+ (£S5 48 FH)

MIIH 15, 78
= 15+8x (48—-1)
=15+8 x 47
=391

(4)  582,578,574,570,566, - (5 21 H&FH)

FIIE 582, 7 4
= 582—4x(27-1)
=582 — 4 x 26
=582 — 104 = 478
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